CASE SAMPLE PAPER - 2019

Class:VIII Pratibha
(Mathematics)

9T : 2% ©e BT 3fdb @ 50
Time: 2% Hours Max. Marks :50
e Al

1. g4y fart & |

2. HUAT Y9 BT IR oG Yo FRA A USel, T BT HAID (aed ford |

3
4
5

6
7
8

.39 U UF gl 22 W €, OIf% IR @usl o, 9, 9 3R § # v &
. TGUS A H FA 5 U B, Al T 1 3(F B T |
.TGUS F H HA 9 U &, S HH 2 3b B B |
.@US A H HA 5 U ©, Sl A1 3 3P B T

. GUS T H q{A 3 WA T, Ol Wl 4 3B D T
.U § Dz 99U fAded T8 B | 91l 3 Il arel 1 U3 § IR

4 3P
It 1 T H AARP fApey vy fFu v & 09 g & 3y fIu 7w
faheal § & BadT TP U9 B BT & |

9. derdgeie] B JANT aford € |

General Instructions:

1.
2.

O NH G,

All the questions are compulsory.

Please write down the Serial Number of the question before attempting
it.

The question paper consists of 22 questions and it is divided into four
sections A, B, C and D.

Section A comprises of 5 questions carrying 1 mark each.

Section B comprises of 9 questions carrying 2 marks each.

Section C comprises of 5 questions carrying 3 marks each.

Section D comprises of 3 questions carrying 4 marks each.

There is no overall choice. However, an internal choice has been
provided in 1 question of 3 marks and 1 question of 4 marks each. You
have to attempt only one of the alternatives in all such questions.

. Use of calculator is not permitted.




Wus A (Section A)
1. Ry g fram @ RE @ it SR @ g2 95T @

Draw the top view for the given figure of glass.

2. IT 2498 TP YOT oFf AT B Fdhell 87 HIRYT QT | D
Can 2498 be a perfect square number? Give reason.
3. = # 9 o @ "= 10 ¥ favrsy 87 @
Which of the following numbers are divisible by 10?
3065, 2000, 1503, 2018
4. (a+b)*or foRa wu ey | ©)
Expand (a+b)2.
5. (123)? 9or (109)* ¥ ¥ BT A T b 1 TR FHC 8NP @
Which number will end on digit 1 among (123)% and (109)*?
WUus § (Section B)
6. TUMES DIy @
Factorize:
m>-25
7. diferdT &I T BT @
Complete the table:
e foree IRIRAT
Tally marks Frequency
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The diagonals of a rhombus are 12 cm and 9 cm and its heightis 5 cm.
Find the area of the rhombus.
9. e @1 faxaiRa wu ¥ ferRaw: @
Expand the following:
(i) 1025.63
(ii) 125.08



10. TS O9M & oY ek g &1 Iifid $Hifg | @
Verify Euler’s formula for a cuboid.

11. 41(10n-3m+21) § ¥ 3I(I-4m+5n) DI T | ®
Subtract 3I(I-4m+5n) from 4/(10n-3m+21).

12. H&r 15p87, 3 9 fowsg € W@l p UH 3% & d p &I AW

A1 AR | @
The number 15p87 is divisible by 3 where p is any digit. Find
the value of p.

13. YT HIfOTQ: @
Divide:
(am*+bm’-bn*-an?) + (m+n)
14. 99 ST I @
Simplify:

274X 1000Xx 573
9 X 3—4

Wus ¥ (Section C)
15.U% UaT TAPE &1 =T HIfoTe foras AE= 8 cm, TE= 4cm T2 PE=6cm

2 ®

Construct a kite TAPE in which AE= 8 cm, TE= 4cm and PE=6cm.
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1 T arferet # geiar AT 81 59 el Bl S @ forg e U |
iferg | ®
A group of 120 people is asked about their favourite food. The data
obtained is shown in the following table. Draw a pie chart for the given
information.

AU WIoTT IR IRA™I | SfeIoT R | ArgAet | /Y Coxcl

O

Favourite food North Indian | South Indian | Chinese | Others | Total

AfFTAT B A= 30 55 20 15 120
No. of people

17. Sforq AAAST BT TART HRA §Y 9.8 x 10.2 BT AN ST BT | ©
By using appropriate identity, find the value of 9.8 x 10.2

34T OR
TR DIfSTY:
Solve:




18.

19.

ay(3y*+5y-7) + 2(y>-4y*+7)

T BT ®
Solve:
S+ ()
firemT ARG ®
Match the following:
(i\V17.64 (a)23.04
(ii) (1000)? (b) 0.42
(iii) (4.8)* (c) 100000
(d) 10°
(e)4.2
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Yus § (Section D)
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fo=T arferat & gl T 2 ®
Ramanuj deposits some amount in bank yearly and earns an yearly
interest of 10% on it. The amount deposited and interest earned by
Ramanuj is shown in the following table:

STHT &+1( H) 100 200 300 400
Amount(in )

¥ =arst (T H) 10 20 30 40
Yearly interest (inX)

SURTGd dIfelhT DT el gIRT S8y |

Prepare the graph for the above table.

STA—fI9IT §RT DA & 150 BRI H Ufifad U&@® B8R § 10,000 <flex
arHl B AYRT BT S © [ S U B DHaet 120 BRI H HoET B, @
TAd TR H fhas oficr Ul Sua=r 8 gH? @
Water board supplies 10,000 litre of water to every house in a colony
having 150 houses. If the water is to be supplied only to 120 houses of
the colony then what is the available amount of water to every
house?
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TP U & H 24 €l @ foly R I JYedb %100 & | AT TifhT &
H SR R 3T B TEH U &, <l Rl U Yoo I BTG |



In a parking area, the car parking charges for 24 hours is 100. If the
car is to be parked for the month of April, then find the total parking
charges.

22. & TS ARHNY BT ATBA T PN | @
Find the area of the following figure.
G F
i E
8cm
A D
B l C

3cm



